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Easy achievement in unflavoured models:
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strong washout regime - K; >> 1 - guarantees strong thermal
Leptogenesis.

Not so easy considering flavour effects!
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Charged leptons’ Yukawa interaction: depending on the
can be fast enough to break |/;)s coherence

,_,} If so, a brocess involves

obtained!

Strong thermal Leptogenesis??
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> For every check successful strong thermal
leptogenesis: .
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T'he T-N3 scenario step by step




~__I'ne T-Ny scenario step by step

Before Leptogenesis’ onset. Preexistent leptons in yellow



NRr3’s processes are active. Components in red are washed out




T-Yukawa interactions break the heavy flavour state’s coherence.The
asymmetry along T is now a pure Leptogenesis product




Washout by the other component. Residual preexistent leptons are
confined on the e-J plane




NRr1 processes: strong washout on the e-[ plane only. The remaining
preexistent asymmetry is erased maintaining the produced one




T T — e = e

Epilogue




> explains the and, via the seesaw
mechanism, the in a natural way

> Considering the problem of in
Leptogenesis has anymore

> Heavy neutrinos’ plays a key role in the analyses,
defining

D is realised only via the

setup - natural within SO(10) GUTs

> Working hypotheses: = three RH neutrinos
= hierarchical RH neutrino spectrum
= minimal type | seesaw, no SuSy



